FORM B SAMPLE TEST - ENGLISH LANGUAGE ARTS EXPLANATIONS
OF CORRECT ANSWERS

REVISING/EDITING PART A

1. The question asks for the revision that corrects the error in sentence structure in the paragraph.

A. CORRECT. The first sentence of the paragraph is a run-on because both clauses—"The land
on Earth has not always been separated into the seven continents” and “at one time a
massive supercontinent, known as Pangaea, covered one-third of Earth’s surface”—are
independent clauses. Independent clauses are complete sentences, and two complete
sentences should not be combined with just a comma. The revision is correct because it
separates the two sentences by placing a period where it is needed after “continents” and by
capitalizing the word “At.”

B. Incorrect. While adding a semicolon after “surface” can be considered a correct way to
separate the independent clauses “at one time a massive supercontinent, known as Pangaea,
covered one-third of Earth’s surface” and “Additionally, the supercontinent was surrounded by
ocean waters called Panthalassa, much of which were in Earth’s Southern Hemisphere,” this
change does not address the sentence structure error in the paragraph (the run-on
sentence). The use of a period separating the independent clauses (complete sentences) is
correct as is.

C. Incorrect. Adding a period after “"Panthalassa” would separate the dependent clause “much of
which were in Earth’s Southern Hemisphere” from its subject: “ocean waters called
Panthalassa.” The dependent clause cannot stand on its own because it shares elements with
the main clause. A dependent clause is not a complete sentence and must be joined with an
independent clause. The clause beginning with “*much of which” is an adjective for “ocean
waters.” Changing the comma to a period creates a new error (a sentence fragment) and
does not address the existing sentence structure error at the beginning of the paragraph (the
run-on sentence).

D. Incorrect. Removing the period after “crust” would create a run-on sentence because the
period is needed to separate two complete sentences—"Geologists believe that the
supercontinent split apart over millions of years because of the movement of the tectonic
plates that form Earth’s crust” and “In fact, experts predict that over the next 250 million
years the movement of the plates will cause the seven continents to merge into a
supercontinent again.” A comma after “crust” would combine these sentences into a run-on,
creating a new error in the sentence without fixing the existing sentence structure error (the
run-on sentence) at the beginning of the paragraph.
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The question asks for the identification of the sentence in the paragraph that has an error in its
construction and should be revised.

CORRECT. Sentence 1 contains a structural error. The sentence begins with a list of
modifying phrases: “Walking dogs, cleaning kennels, hand-feeding newborn kittens, and
supporting the pet-adoption process.” As written, this list modifies the closest noun phrase,
“the animal shelter,” which is illogical because the list describes tasks at the animal shelter,
not the shelter itself. The list should follow the word “tasks” at the end of the sentence, so
that it is closer to the word that it modifies.

Incorrect. Sentence 2 does not contain structural errors. The phrase “especially those who
aspire to care for and protect animals” in sentence 2 correctly modifies “young people.”

. Incorrect. Sentence 3 does not contain structural errors. The structure of sentence 3 allows

the words “In addition to hands-on training with animal care” to correctly modify “volunteers
will learn.”

. Incorrect. Sentence 4 does not contain structural errors. The phrase “which is the awareness

and understanding of the feelings of others” in sentence 4 correctly modifies the word
“empathy.”

The question asks for the correction needed for an error in the sentence.

A.

Incorrect. When a name has more than one element, a comma is used to separate the
elements for clarity.

CORRECT. The sentence needs a comma to set off the clause “which is considered one of the
‘new’ Seven Wonders of the World,” because the clause is not essential to the meaning of the
sentence (nonrestrictive clause). This option is correct because it places a comma where it is
needed, after “Italy,” to set off the nonrestrictive clause that follows.

Incorrect. This edit would remove the comma at the end of the nonrestrictive clause, which
should be set off by commas at the beginning and the end.

. Incorrect. A comma after “built” would separate the dependent clause “and once could hold

up to 50,000 spectators” from the subject of the main clause. The dependent clause uses the
subject from the main clause, so it must stay connected.

The question asks for the correct revision of the sentence in the box.

Incorrect. The revisions do not fix the error that “to promote their club” modifies “a bake
sale.”

Incorrect. The revisions do not fix the error that “to promote their club” modifies “a bake
sale.”

. CORRECT. The revision is correct because it includes the phrase “to promote their club”

clearly modifying *"members of the debate team.”

. Incorrect. While the revision clarifies that “to promote their club” relates to the "members of

the debate team,” the rest of the sentence is poorly written because the insertion of “on
Wednesday to promote their club” in the middle of the sentence interrupts the main clause,
“Members of the debate team will sponsor a bake sale.”
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REVISING/EDITING PART B

The Free College Debate

5.

The question asks which sentence should replace sentence 3 to best state the topic of the
passage.

A.

Incorrect. Although this sentence mentions that “several states have implemented
scholarship programs,” it does not clearly introduce the topic of the passage, which is
differing opinions about and approaches to solving the problem of the cost of college.

. CORRECT. This sentence best replaces sentence 3 because it clearly states the topic of

“determining the most effective way to make college affordable.” It also provides an
introduction to the “differing opinions” of proponents, who believe that states should provide
low-cost or free tuition, and opponents, who believe that such state programs are
“unsustainable” (sentence 8).

Incorrect. This sentence mentions the role of higher-education institutions in helping “reduce
the cost of a college education” for students, which is a idea discussed in sentences 14 and
15 in the passage. Although the sentence provides details to support the topic of the passage
by referring to “ways to help students avoid paying for unnecessary classes and materials,” it
does not state the topic, which is differing opinions about and approaches to solving the
problem of the cost of college.

. Incorrect. Even though this sentence mentions “college affordability,” it is primarily focused

on a problem that is related to, but different from, the issue discussed in the passage. The
passage is concerned with “the price of higher education” (sentence 2), not how tuition rates
“affect the quality of the education [students] receive.”

The question asks where the sentence should be added to best support the ideas in the second
paragraph (sentences 4-7).

Incorrect. Sentence 4 introduces the main idea of the second paragraph (making college “a
financially realistic option for those who aspire to obtain a degree”) and should not be
preceded by the added sentence, which focuses more narrowly on the specific ways that
some states are implementing that idea.

CORRECT. The added sentence provides a proposed solution to the issue stated in
sentence 4, that “a college education should be a financially realistic option.” Sentence 5 is
an example of the programs discussed in the added sentence.

. Incorrect. Sentences 5 and 6 offer examples of state governments providing “low-cost or

free” tuition. The added sentence introduces this idea in the second paragraph and should
come before these specific examples are provided as evidence.

. Incorrect. Sentence 6 provides an example of the state government of Tennessee providing

“low-cost or free” tuition, and sentence 7 further explains the opinion of those in favor of
such programs (“a step in the right direction for making college affordable”). However, the
ideas in sentences 6 and 7 follow from and support the idea in the added sentence.
Therefore, the added sentence should be placed in the paragraph before sentences 6 and 7,
which help elaborate its idea.
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7. The question asks which sentence presents information that shifts away from the topic of the
third paragraph (sentences 8-13) and should be deleted.

A. Incorrect. Sentence 9 explains that scholarship funding comes “from the state’s budget,
which primarily comes from state taxes.” Sentence 10 logically follows the idea in sentence 9
by explaining that “as more students choose to attend college, more funds will be needed to
cover the costs.” Therefore, sentence 10 should not be deleted, because it does not shift
away from the topic of the paragraph.

B. CORRECT. Sentence 10 makes the claim that “as more students choose to attend college,
more funds will be needed to cover the costs.” Sentence 11 shifts away from this topic by
focusing on how switching majors or working affects students’ ability to finish college, rather
than on the additional funds that will be needed for scholarship programs. Therefore,
sentence 11 should be deleted.

C. Incorrect. Sentence 9 states that scholarship program funding comes “from the state’s
budget, which primarily comes from state taxes.” Sentence 10 points out that “as more
students choose to attend college, more funds will be needed to cover the costs.”

Sentence 12 elaborates on the critics’ opinions discussed in sentences 8-10. It reflects the
belief that the “circumstances” described in sentences 9 and 10 “will inevitably lead to an
increase in taxes, a decline in the quality of the education offered by the schools, or both.”
Thus, sentence 12 should not be deleted, because it does not shift away from the topic of the
paragraph.

D. Incorrect. Sentence 13 refers back to the “critics” mentioned in sentence 12 and expands on
the critics’ concern about increased taxes mentioned in sentence 12 by stating that “narrower
college-affordability efforts . . . may be more effective and viable solutions.” Therefore,
sentence 13 should not be deleted because it logically follows the ideas in sentence 12 and
serves as a concluding sentence for the paragraph.
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8. The question asks which phrase should be added before sentence 14 to best transition to the
ideas in the fourth paragraph (sentences 14-17).

Incorrect. Sentence 13 summarizes the viewpoint of opponents, who believe that targeted
approaches to funding education “may be more effective and viable solutions,” and

sentence 14 serves to introduce how “faculty and students at higher-education institutions
can work to keep costs down.” Affordability is “a complicated issue,” but the use of the word
“Because” suggests that the ideas that follow in sentences 14-17 will explain a cause-and-
effect relationship. However, sentences 14-17 discuss ways faculty and students should work
together to keep the cost of college down while waiting for a long-term solution to the
problem, not a causal relationship.

Incorrect. Sentences 4-13 provide information about the viewpoint of proponents, who
believe that “a college education should be a financially realistic option for those who aspire
to obtain a degree” (sentence 4), and opponents, who believe free college programs are
“unsustainable” (sentence 8). Although the phrase in this option mentions “opinions,” it
indicates that the fourth paragraph will discuss why the number of opinions makes
affordability a debatable issue. Instead, the fourth paragraph discusses ways faculty and
students can help keep costs down until a solution is reached.

. CORRECT. Sentence 13 summarizes the viewpoint of opponents, who believe that targeted

approaches to funding education "may be more effective and viable solutions,” while
proponents “generally believe that these [government] programs are a step in the right
direction for making college affordable” (sentence 7). However, sentences 14-17 offer three
possible solutions that could alleviate the problem in the meantime. Therefore, the phrase in
this option should be added before sentence 14 to best transition to the ideas in the fourth
paragraph because it suggests that until the issue of affordability is resolved, alternatives are
available to help make a college education more affordable.

. Incorrect. This phrase mentions “college affordability,” a topic discussed in the fourth

paragraph. However, the ideas introduced in the phrase do not logically lead into the ideas
discussed in sentences 14-17, because the phrase mentions “programs [that] have been
successful,” and the paragraph states that “faculty and students at higher-education
institutions can work to keep costs down” (sentence 14) and that colleges “should account for
experience by allowing students to demonstrate their knowledge in order to avoid having to
pay to sit through classes on subjects they have already mastered” (sentence 16). Use of the
words “can” and “should” in these sentences indicates that the actions or programs
mentioned in the paragraph have not been completed.
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9. The question asks which concluding sentence should be added after sentence 19 to support the
topic of the passage.

A. Incorrect. Although sentence 15 cites “increased access to computers, mobile devices, and
the Internet” and states that “there are more opportunities for students to take courses
online, thus reducing the need for and cost of maintaining physical classrooms,” the primary
topic discussed throughout the passage is that state and federal governments, not faculty
and students, must resolve the issue of college affordability. Therefore, the sentence should
not be added after sentence 19, because it does not support the topic.

B. Incorrect. Sentence 5 presents the example of the New York State legislature, which “passed
a bill creating a program to cover the tuition costs for nearly one million students.”
Sentence 12 states that critics of this type of program believe that certain circumstances “will
inevitably lead to an increase in taxes” or other issues such as low-quality education.
However, the idea that these types of programs may lead to new problems is not thoroughly
discussed in the passage. Therefore, the sentence should not be added after sentence 19,
because it does not support the topic.

C. Incorrect. Although sentence 7 states that scholarship programs are helpful “for students
who would have had to take out loans or who would have decided not to pursue higher
education at all,” the passage does not state that many students will stop pursuing higher
education until the affordability issues are solved. In fact, sentence 14 states that there are
ways faculty and students can “work to keep costs down.” Therefore, the sentence should not
be added after sentence 19, because it does not support the topic.

D. CORRECT. The sentence in this option should be added after sentence 19 to support the
topic because it acknowledges that the issue of college affordability discussed throughout the
passage is not “resolved” but that when it is, students will be able to make decisions about
attending college without concerns about cost. Sentence 18 states that “the solutions to the
problems associated with rising college costs are not simple,” and sentence 19 adds that
“passing legislation that boosts college affordability will take time,” ideas, and planning.
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READING COMPREHENSION

Massachusetts: Lowell National Historical Park

10. The question asks why the author includes the quotation from the Scottish traveler in
paragraph 1 of the passage.

E. Incorrect. While it is likely that people outside the United States recognized that both the
natural landscape and the bustling industry were significant, the quotation from the Scottish
traveler is meant to convey the variety of the types of attractions in the U.S., not to make a
general statement about their contribution.

F. Incorrect. The Scottish traveler mentions both "American scenery” and “"American industry” in
the quotation, but the intent is to highlight that they are each points of interest. The
quotation does not provide a comparison of the two attractions.

G. CORRECT. The quotation emphasizes the idea that the United States offers different
attractions. The Scottish traveler highlights the two places in the United States that he will
most remember: first, the beautiful natural formation of Niagara Falls (* ‘the glory of
Americanscenery’ ”) and second, the industrial city of Lowell (* ‘the glory . . . of American
industry’ ).

H. Incorrect. The Scottish traveler mentions both "American scenery” and “American industry” in
the quotation but does not imply that the natural resources contributed to the development
of industry.

11. The question asks for the sentence in paragraph 2 that best supports the idea that Lowell
became “a bustling industrial city” (paragraph 1).

A. Incorrect. While the sentence provides details on when the town of Lowell was founded and
the natural features of the area, it does not support the idea that the city became “a bustling
industrial city.”

B. Incorrect. Although this sentence indicates that the mill buildings were a noticeable feature of
the city and provides details on how the mills worked, it does not specifically show that
Lowell had become “a bustling industrial city.”

C. Incorrect. While this sentence lists some recognizable mill buildings along the river and notes
when their associated businesses were established, it does not support the idea that Lowell
was “a bustling industrial city.”

D. CORRECT. This sentence indicates that within only a few decades of the city’s founding, it
experienced massive industrial growth, with “40 textile mills employing over 10,000
workers,” supporting the idea that Lowell became “a bustling industrial city.”
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12,

The question asks which statement best describes how the sentence in paragraph 3 fits into the
overall structure of the passage.

CORRECT. The sentence in paragraph 3 provides a transition from the overall description of
the city and the mills to a description of the women who made up the workforce in the mills.
The idea that women left domestic life in favor of working in the mills is important in the
passage, and the sentence serves to connect that idea to the previous discussion about the
mills.

Incorrect. While the mill girls” dissatisfaction with their working conditions is addressed later
in the passage ("These wage cuts, deteriorating working conditions, and long workdays led
the ‘mill girls’ to protest and organize strikes” [paragraph 4]), the sentence in paragraph 3
does not indicate a shift in tone from positive to negative. The sentence provides a transition
to the discussion of the women who worked in the mills.

. Incorrect. Although the sentence in paragraph 3 mentions that women became interested in

working in the mills because of the “constricted lifestyle of small rural towns,” structurally the
sentence does not function as a summary because, instead of expanding on the idea of the
difficulties or challenges of life in small rural towns and rural areas, the paragraph goes on to
describe the advantages and disadvantages of life in the city for these women.

. Incorrect. The sentence in paragraph 3 focuses on the choices women made to leave rural

towns to work in the city in the early to mid-1800s, not the mid-1800s to the late 1800s. The
sentence does not create a comparison between the workforce in the mid-1800s and that in
the late 1800s.

13.

The question asks how the sentence in paragraph 5 contributes to the development of ideas in
the passage.

A. Incorrect. The sentence from paragraph 5 does not imply that Lowell was founded by early

Irish immigrants. The sentence explains how Irish immigrants had been settling in Lowell
since the city was established and that they contributed to the construction of the city, which
allowed it to become an industrial center several decades later.

CORRECT. The sentence from paragraph 5 shows that early Irish immigrants were critical to
the success of Lowell as an industrial city. This information supports the development of the
idea that the work of Irish immigrants and immigrants from other places is an important
element in the historical significance of industry in Lowell.

Incorrect. The sentence from paragraph 5 does not suggest that new Irish immigrants were
readily accepted into the community. Paragraph 5 states that “initially, Lowell’s Protestant
community was slow to welcome Irish immigrants, but the hostility between Yankee
Protestants and Irish Catholics eventually disappeared.”

. Incorrect. The sentence from paragraph 5 does not highlight the relationship between the

mill girls and the new Irish immigrants. Paragraph 4 explains how the mill girls left Lowell,
and paragraph 5 states that the mill girls were replaced by “predominantly Irish Catholics,
who traveled to America during the Great Potato Famine” but does not discuss a relationship
between them.
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14.

The question asks for the sentence that best summarizes the mill girls’ time as the dominant
workforce in Lowell.

Incorrect. While the passage explains that mill girls were initially eager to leave the domestic
duties of life in rural areas, the summary sentence does not address the details about the mill
girls’ time working in the mills or the changes that led the mill girls to leave the industry.

Incorrect. Mill girls initially found satisfaction in the mill work and lifestyle, and when they did
leave, immigrants filled the empty jobs. This summary sentence, however, does not address
the details about the mill girls’ time as the primary workforce in Lowell or the circumstances
that led them to leave their jobs in the mid-1800s.

. Incorrect. Mill girls did leave home to work in the Lowell mills, and they did grow dissatisfied

over time, but this summary sentence does not include details about the mill girls” actions to
improve the working conditions.

. CORRECT. This sentence summary best captures the mill girls” experience as outlined in

paragraphs 3 and 4. The sentence concisely summarizes both the women’s initial excitement
about the opportunity to live independently ("Women found that Lowell’s mills offered
monthly wages for their services and provided them room and board” [paragraph 3]) and
their eventual inability to secure better working conditions (*When their demands went
unheard, the women left Lowell, and immigrant groups replaced them in the workforce”
[paragraph 4]).

15.

The question asks which description conveys the central idea that Lowell was “one of America’s
most significant industrial cities” (paragraph 1).

A. Incorrect. While the passage does state that the city’s canals, mills, and boardinghouses were

built by early immigrants from Ireland, these details do not contribute to the development of
the overall idea that Lowell was a significant industrial city.

Incorrect. The details about the women and immigrants who worked in the mills is important
to the passage, but these details alone do not show that Lowell was a significant industrial
city.

CORRECT. The details throughout the passage about the development of the mills and the
people who worked in them convey the significance of Lowell in early American industry.
Paragraph 2 shares details about the businesses that started in the early 1800s and
contributed to the development of industry in the region (*The most recognized of these
buildings are the Lowell Manufacturing Company chartered in 1821, the Suffolk or
Wannalancit Mill completed around the 1880s, the Boott Mill Company established in 1835,
and the Boott Mill Boardinghouse that opened in 1838”). Then paragraphs 3-6 provide
specific details about the people who worked in the mills at different points in time.

. Incorrect. Although the passage references Lowell’s culturally diverse community (“Young

Yankee women, immigrant families, and European tourists all flocked to Lowell to find work at
one of the many textile mills” [paragraph 1]), these groups alone are not what marked Lowell
as a significant industrial city.

208



16. The question asks for the reason that best illustrates why Lowell lost its status as an industrial
leader.

Incorrect. While the passage discusses the “long work hours, low wages, and poor living

conditions in the city’s crowded tenements” (paragraph 6) in Lowell, these details highlight
the living and working conditions of immigrant groups. The author does not state that poor
living and working conditions are the reason Lowell lost its status as a “"model of industry.”

Incorrect. Paragraph 5 in the passage acknowledges that there was some tension between
the different ethnic and religious groups in Lowell, but this idea is not what led to Lowell’s
decline as a "model of industry.”

. CORRECT. When Lowell was initially established, the mills in the city thrived because of their

advanced manufacturing methods (“gaining global recognition for its state-of-the-art
technology, innovative canal and dam system, [and] mill architecture” [paragraph 1]).
However, manufacturing technology changed and improved over time, and many mill owners
chose to close the mills rather than modernize them, resulting in Lowell’s loss of status as a
“model of industry” ("The city officially began to close down its mills in the 1920s and '30s
after Lowell’s outdated mills could no longer compete against the state-of-the-art cotton mills
in other communities” [paragraph 6]).

. Incorrect. The details about the temporary revival of the mills during World War II do not

show why Lowell is no longer considered a “model of industry.” The mills were used briefly
during wartime because of an increased need for supplies, but this use of the mills was short-
lived.

Excerpt from A Tramp Abroad

17. The question asks what the inclusion of the phrase from paragraph 1, which highlights the
behavior of ants from different parts of the world, shows about the author.

A. Incorrect. In the excerpt, the author is comparing different species of ants with one another

and not with other living creatures.

CORRECT. The phrase from paragraph 1 is meant to acknowledge that while the author
believes that “the ordinary ant” is foolish, his observations in the excerpt do not apply to
other types of ants.

Incorrect. Although the author suggests that disproving a commonly held belief about the
behavior of ants from different parts of the world is challenging, the author does not directly
express this opinion in the excerpt.

. Incorrect. While the author suggests in the excerpt the idea that his conclusions drawn about

the ants’ behavior are flawed, the reference to Swiss and African ants is meant to show that
those ants are an exception.
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18.

The question asks for an explanation of how the words “grabs,

”o\w

yanks,” and “tearing away”

(paragraph 2) contribute to the meaning of the excerpt.

Incorrect. Although the ant’s actions suggest that he believes he has an important job to
complete, the words used in the paragraph focus on the ant’s movements rather than on his
beliefs.

Incorrect. The ant’s inability to make progress while transporting the grasshopper leg by
himself demonstrates the ant’s inefficiency ("At the end of half an hour he fetches up within
six inches of the place he started from” [paragraph 2]).

Incorrect. The ant does not complete his tasks, despite moving in a hurried and determined
way (“not calmly and wisely, but with a frantic haste which is wasteful of his strength”
[paragraph 2]).

. CORRECT. These words convey sudden movements as the ant becomes more upset in his

efforts to transport the grasshopper leg.

19.

The question asks how the sentence, which states that the ant ends up only six inches from his
original starting point, contributes to the central idea of the excerpt.

A.

Incorrect. While the author recognizes the pointlessness of the efforts, the ant never
becomes aware that his efforts are purposeless.

CORRECT. The sentence explains how the idea in the sentence supports the central idea that
“the average ant is a sham” (paragraph 1) by emphasizing his lack of progress and wasted
effort.

Incorrect. The ant ending up only six inches from his starting point suggests pointless effort,
not an industrious or productive attitude.

Incorrect. The emphasis of the sentence is on the ant’s wasted effort, not the difficulty and
time involved, which the ant never realizes or evaluates.
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20. The question asks which idea the description at the end of paragraph 2 conveys about the
repetition of the ant’s actions.

E. Incorrect. The description at the end of paragraph 2, in which the ant “goes through the
same adventures” to no avail, does not convey the idea that mistakes are necessary in order
to make progress.

F. Incorrect. The description at the end of paragraph 2, in which the ant runs away in a
“violent” hurry and “traverses a good deal of zig-zag country, and by and by stumbles on his
same booty again . . . not remember[ing] to have ever seen it before,” does not convey the
idea that rushing to meet a goal may lead to an undesirable outcome, because the last line in
paragraph 2 refers to the ant’s repetitive actions as an adventure (“He goes through the
same adventures he had before”).

G. Incorrect. The description at the end of paragraph 2, in which the ant repeatedly “stumbles
on his same booty again,” does not convey the idea that breaking out of a familiar pattern of
events is difficult, because the industrious ant “does not remember” (paragraph 2) and is
thus unaware that he is repeating his actions.

H. CORRECT. The description at the end of paragraph 2 says that the ant “traverses a good
deal of zig-zag country, and by and by stumbles on his same booty again. He does not
remember to have ever seen it before; he looks around to see which is not the way home,
grabs his bundle, and starts. He goes through the same adventures he had before,” thus
indicating that the ant is both industrious and foolish in his actions.

21. The question asks for a sentence from the excerpt that best supports the idea that the ant’s
“leather-headedness” (paragraph 2), or the ant’s stubborn determination to engage in foolish
and worthless actions, amounts to “ignorance” and “idiocy” (paragraph 4).

A. Incorrect. Although this sentence asks about what the ant does after “he makes a capture”
(paragraph 2), this rhetorical question remains unanswered and the sentence does not best
demonstrate how the ant’s stubborn determination in engaging in foolish and worthless
actions amounts to “ignorance” and “idiocy.”

B. Incorrect. While this sentence indicates what the ant does after “he makes a capture”
(paragraph 2), the sentence does not best demonstrate how the ant’s stubborn determination
in engaging in foolish and worthless actions amounts to “ignorance” and “idiocy,” because it
describes typical ant behavior, in which there is nothing inherently foolish until it is applied
stubbornly in the wrong direction (“he lifts it bodily up . . . and starts—not toward home, but
in the opposite direction; not calmly and wisely, but with a frantic haste which is wasteful of
his strength” [paragraph 2]).

C. CORRECT. In the sentence, the ant realizes he is in the wrong place only after wasting effort
and strength. “He cannot stroll around a stump and find his way home again. This amounts
to idiocy” (paragraph 4). Thus, this sentence best demonstrates how the ant’s stubborn
determination in engaging in foolish and worthless actions amounts to “ignorance” and
“idiocy.”

D. Incorrect. Even though this sentence uses the word “aimlessly” to suggest an element of
foolishness, the sentence describes the physical aftermath of the ant’s exertions, but without
the context of those exertions, it cannot be said to show “leather-headedness” or “ignorance”
and “idiocy.”
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22. The question asks how the second ant, a friend, influences the first ant.

Incorrect. The first ant does not know where his home is (paragraph 2: “He doesn’t know
where home is. His home may be only three feet away; no matter, he can’t find it").

Incorrect. While the friend offers to help the first ant (paragraph 3: “Evidently the friend
contracts to help him freight [the grasshopper leg] home”), he does not inspire a new
approach to resolving the situation.

. CORRECT. The friend’s complimentary remark about the grasshopper leg serves to

encourage the first ant to continue his efforts to drag the useless object home (paragraph 3:
“Evidently the friend remarks that a last year’s grasshopper leg is a very noble acquisition”).

. Incorrect. While the friend does make it difficult for the first ant to transport the grasshopper

leg, the friend is not intentionally trying to prevent the first ant from reaching home
(paragraph 3: “Then, with a judgment peculiarly antic [pun not intentional], they take hold of
opposite ends of that grasshopper leg and begin to tug with all their might in opposite
directions”).

23. The question asks for the text from the excerpt that best explains why the author finds the
behavior of the ants fascinating.

A.

Incorrect. The quoted text provides details that reflect the author’s basic interest, but this
observation does not extend to the level of fascination.

Incorrect. Although the author states “I admit his industry” and acknowledges that ants are
hardworking, the author does not explain in the quoted text why he finds the behavior of the
ants fascinating.

Incorrect. The quoted text provides details that would reflect a basic interest and observation
but that do not extend to fascination.

. CORRECT. The author’s purpose in describing the excessively foolish actions of the ants is to

prove his argument that in spite of what people have long believed, ants are completely
lacking in intelligence. The author’s use of the phrase “beyond comprehension” in the quoted
text shows the author’s fascination with the difference between public opinion and observed
truth.
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24.

The question asks for an explanation of how the sentence from paragraph 3, which highlights the
second ant’s interest in the grasshopper leg, fits into the structure of the excerpt.

Incorrect. The idea that the ant seeks out worthless items is established in paragraph 2 (“it is
generally something which can be of no sort of use to himself or anybody else”) and in
paragraph 3 (“valueless enough to make an ant want to own it”), but the sentence does not
indicate a shift to a realization that the ants place great importance on an item that has little
value.

CORRECT. This statement best describes how the sentence from paragraph 3 fits into the
overall structure of the excerpt because the sentence emphasizes a shift from paragraph 2,
which analyzes the actions of the first ant alone, to paragraph 3, which comments on the
interaction between the two ants and the ensuing efforts of the two ants together as they
“take hold of opposite ends of that grasshopper leg and begin to tug with all their might in
opposite directions” (paragraph 3).

. Incorrect. While the author states in paragraph 3 that the ants “take hold of opposite ends of

that grasshopper leg and begin to tug with all their might in opposite directions” and they “go
to work again in the same old insane way,” this statement does not best describe how the
sentence from paragraph 3 fits into the overall structure of the excerpt, because the sentence
does not create a transition to the idea that specific observations allow for a generalization
about all ants.

. Incorrect. Although the author states in paragraph 3 that “the friend contracts to help him

freight [the grasshopper leg] home,” the author does not suggest that the ants’ actions are
purposeful. Rather, the author describes their actions and their “judgment [as] peculiarly
antic” (paragraph 3). Thus, the statement does not best describe how the sentence from
paragraph 3 fits into the overall structure of the excerpt, because the sentence does not
provide a transition to the observation that the ant’s friend is just as purposeful in his efforts
toward a futile ending as the first ant is.

25.

The question asks how the central idea that “the average ant is a sham” (paragraph 1) is mainly
conveyed in the excerpt.

A. CORRECT. The excerpt focuses on the author’s humorous explanation of the ineffective

struggles of two ants to accomplish a task, and the excerpt concludes with the statement
that ants are not as smart as people think: “the ant has been able to fool so many nations”
(paragraph 4).

Incorrect. The reference to ants in other locations is a detail mentioned only in paragraph 1
and is not directly related to the central idea mentioned in the question.

Incorrect. While the narrator does observe the ants, the observations made are highly
opinionated and not characterized as especially insightful or perceptive.

. Incorrect. Although paragraph 2 states that the ant seeks out objects that are “generally

something which can be of no sort of use to himself or anybody else,” this reference is not
the main way that the author conveys the premise that ants are a sham or false.
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Using Fire to Keep a Prairie Healthy

26.

The question asks how observing the effects of the fires started by natural causes prompted
American Indians to begin practicing controlled burns.

CORRECT. In paragraph 2, the author states that American Indians observed bison “grazing
on tender new grass on the recently burned land rather than on grass in the unburned
areas.” These observations prompted the practice of controlled burns as a means of enticing
“the herds away from the people’s crops.”

Incorrect. Although the author mentions in paragraph 4 that the primary targets of a
controlled burn are red cedar trees and that “these tall trees also cast shade that prevents
sunlight from reaching the plants beneath them,” this detail supports why conservationists
use controlled burns today, not what initially prompted the use of controlled burns.

. Incorrect. While the author states in paragraph 3 that “the process of burning excess plant

matter adds nitrogen, an essential element for plant growth, to the soil” and that
“intentionally burning a portion of land can dramatically improve the quality of the vegetation
that regrows there,” these details do not explain the initial observations that prompted
American Indians to practice controlled burning.

. Incorrect. The author mentions in paragraph 2 that the bison “seemed to prefer grazing on

tender new grass on the recently burned land rather than on grass in the unburned areas”
and that the availability of this new grass “enticed the herds away from the people’s crops.”
While these details show that the use of controlled burns influenced the behavior of the
bison, the author does not suggest that the bison changed their migration habits in order to
flee wildfires.

27.

The question asks how targeting red cedar trees in controlled burns affects the animals that live
on the prairie.

A. CORRECT. According to information in paragraph 4, targeting invasive red cedar trees with

controlled burns affects animals that live on the prairie by ensuring that these trees do not
“crowd out prairie grasses, the primary food source for wild and domestic animals that make
the prairie their home.” The paragraph also states that each red cedar tree consumes “up to
40 gallons of water per day, taking this vital resource away from other plant life.” Removing
red cedars thus increases the amount of water available to the prairie grasses and helps
maintain favorable conditions for the animals’ main source of food.

Incorrect. Although the author mentions the potential danger to wildlife from an uncontrolled
burn in paragraph 5, the author emphasizes that patch burning “allows animals in the burn
area to safely relocate.” Therefore, the animals that live near trees scheduled for removal are
not endangered by the controlled burns.

Incorrect. In paragraph 4, the author states that “a single red cedar tree can consume up to
40 gallons of water per day, taking this vital resource away from other plant life.” However,
the author does not suggest that reducing the number of red cedar trees through controlled
burns ensures a sufficient water supply for animals that live on the prairie.

. Incorrect. In paragraph 4, the author states that “these tall trees also cast shade that

prevents sunlight from reaching the plants beneath them.” However, the author does not
suggest that using controlled burns to eliminate red cedar trees reduces a natural source of
shade for prairie animals. The red cedar trees are invasive; therefore, the author does not
consider them a “natural” part of the prairie ecosystem.
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28. The question asks what the author intends to show by using the second sentence in paragraph 6
in the passage.

Incorrect. Although the author refers to the conservationists as “experts” in paragraph 5 and
states that conservationists “provide training to prairie farmers” (paragraph 6), the second
sentence in paragraph 6 does not imply that the conservationists are better qualified to lead
preservation efforts than farmers are. Instead, the sentence shows that conservationists
believe that prairie farmers are capable of performing the controlled burns that contribute to
overall conservation efforts.

CORRECT. The conservationists are eager to involve others in the preservation of the prairie,
because “studies show that the patch-burn approach has restored biodiversity to the area by
promoting the growth of species that were at risk of being crowded out” and that the process
has “helped the prairie sustain life for hundreds of years” (paragraph 6). The second
sentence in paragraph 6 describes how conservationists are sharing their knowledge about
preservation techniques with people who live on the prairie.

. Incorrect. Although the author points out in paragraph 6 that “studies show that the patch-

burn approach has restored biodiversity to the area by promoting the growth of species that
were at risk of being crowded out,” the idea that controlled burns may help restore the
original biodiversity of the prairie is not the focus of the second sentence in paragraph 6,
which notes only that conservationists are providing training to farmers about controlled
burns.

. Incorrect. The author mentions in paragraph 6 that the patch-burn system has been

“successful” and suggests in the last sentence of the paragraph that the use of controlled
burns will continue to benefit the prairie ecosystem. These details imply that this system will
continue to be used and may even become more widespread. However, the second sentence
in paragraph 6 merely describes a patch-burn training program that already exists and does
not suggest that this program should serve as a model for other organizations.
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. The question asks which details from the passage best convey the central idea that using the
patch-burn method is an effective way to protect and manage prairie land.

A. Incorrect. The author explains in paragraph 5 that “patch burning contains the fire within a
specific area and allows animals in the burn area to safely relocate.” This explanation conveys
two supporting ideas: the patch-burn method is controllable, and patch-burn fires do not
pose a threat to animals. However, this explanation does not address the broader central idea
that the patch-burn method is an effective way to protect and manage prairie land.

B. Incorrect. In paragraph 5, the author states that “the key to using controlled fires is knowing
which areas of land to burn and when.” The author then provides information about how
conservation experts “study the land to find out which areas would most benefit from being
burned.” However, these details convey supporting ideas rather than the central idea that
using the patch-burn method is an effective way to protect and manage prairie land.

C. CORRECT. In paragraph 3, the author states that “fires burn away weedy undergrowth and
help limit the overcrowding of shrubs and trees in the burn area, creating less competition for
water and nutrients.” Also, in paragraph 6, the author states that patch burning “has restored
biodiversity to the area by promoting the growth of species that were at risk of being
crowded out.” These details directly convey the central idea that using the patch-burn
method is an effective way to protect and manage prairie land.

D. Incorrect. The author explains in paragraph 5 how conservationists “arrange about a dozen
burns over one-third of the land,” which helps show how the patch-burn method is applied by
conservationists. However, this is a supporting detail that conveys the idea that the burns are
deliberately set and carefully controlled. This detail does not convey the central idea that
using the patch-burn method is an effective way to manage and protect prairie land.

. The question asks which sentence supports the idea that farmers and people who manage land
may be concerned about using fire as a way to benefit the land.

E. CORRECT. The sentence from paragraph 1 supports the idea that farmers and people who
manage land may be concerned about using fire as a way to benefit the land because it
acknowledges that “one of the greatest threats to the prairie is wildfire.”

F. Incorrect. Although the sentence from paragraph 2 relates how American Indians “began to
deliberately burn areas of land for bison to graze on” and to protect people’s crops, the
sentence does not support the idea that farmers and people who manage land may be
concerned about using fire as a way to benefit the land. Instead, it focuses on the cause-and-
effect relationship between bison and newly burned areas.

G. Incorrect. The sentence from paragraph 5 provides details about how “patch burning contains
the fire” and “allows animals in the burn area to safely relocate,” but it does not adequately
support the idea that farmers and people who manage land may be concerned about using
fire as a way to benefit the land, because it does not mention that wildfires can be a threat to
the prairie.

H. Incorrect. While the sentence from paragraph 5 does explain how “conservationists will burn
a different section of the preserve” in order to rotate the process year after year so that the
burned land has time to regrow, the sentence does not support the idea that farmers and
people who manage land may be concerned about using fire as a way to benefit the land
because it does not mention the potential for total burns.
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31. The question asks which idea the words “counterintuitive” and “strategic” convey in the last
sentence in paragraph 6 in the passage.

A. Incorrect. Though the author states in paragraph 6 that conservationists have used safe and
“strategic” methods, those methods have not been ineffective, since “the patch-burn system
is so successful that the conservationists at the preserve provide training to prairie farmers
about conducting controlled burns on their own land” (paragraph 6). Therefore, the words
“counterintuitive” and “strategic” in the last sentence of paragraph 6 do not convey the idea
that the safest methods are sometimes the least effective at solving complex challenges.

B. Incorrect. Although the author points out in paragraph 6 that researchers’ studies have
shown “that the patch-burn approach has restored biodiversity to the area by promoting the
growth of species that were at risk of being crowded out,” the author does not suggest that
the methodologies conservationists used to conduct the patch burns are uncommon, since
the methods were used by “the American Indian people [who] began to deliberately burn
areas of land for bison to graze on” (paragraph 2). Therefore, the words “counterintuitive”
and “strategic” in the last sentence of paragraph 6 do not convey the idea that thorough
investigation of uncommon methodologies can lead to beneficial results.

C. CORRECT. In paragraph 1, the author states that “"one of the greatest threats to the prairie
is wildfire,” so the idea of conducting controlled burns suggests risk and runs “counter,” or
contrary, to people’s common expectations, or “intuition,” about the dangers of fires. Thus,
the words “counterintuitive” and “strategic” in the last sentence of paragraph 6 convey the
idea that detailed planning can ensure that a potentially destructive action has a positive
impact.

D. Incorrect. The author states in paragraph 6 that “the patch-burn system is so successful that
the conservationists at the preserve provide training to prairie farmers.” This statement
supports the idea of the action being “strategic” in order to achieve success. However, the
statement does not suggest that because the process is “counterintuitive,” or unexpected, it
involves a certain amount of risk to achieve that success. Therefore, the words
“counterintuitive” and “strategic” in the last sentence of paragraph 6 do not convey the idea
that plans that entail a certain amount of risk almost always result in success.

217



32. The question asks with which statement the author of the passage would most likely agree.

Incorrect. In paragraph 5, the author states that “patch burning contains the fire within a
specific area and allows animals in the burn area to safely relocate,” and paragraph 6 states
that conservationists “provide [important] training to prairie farmers about conducting
controlled burns on their own land.” However, the author does not explicitly take a position
about the importance of explaining the purposes and the risks of controlled burns to the
people living near a proposed burn area. Therefore, the evidence in the passage does not
strongly suggest that the author would agree with this statement.

CORRECT. In paragraph 5, the author points out that conservationists “study the land to find
out which areas would most benefit from being burned, and then they arrange about a dozen
burns over one-third of the land” and “rotate which portion of land is burned each year” so
that animals, such as bison, can “safely relocate.” Therefore, the author would most likely
agree that it is necessary to thoroughly examine a particular region in order to plan and
execute a successful controlled burn.

. Incorrect. The author of the passage would be unlikely to agree that monitoring animals’

reactions after a controlled burn on the prairie is a minor part of scientists’ research. In
paragraph 5, the author explains that patch burning “allows animals in the burn area to
safely relocate” and that conservationists “burn a different section of the preserve” each year
to ensure that animals have an abundant area to graze while other areas are being burned.

. Incorrect. According to the information in paragraph 4, conservationists commonly target

invasive red cedar trees because they are tall trees that “crowd out prairie grasses, the
primary food source for wild and domestic animals that make the prairie their home.” Since
the focus is on the harm that the invasive red cedar can cause, the author would be unlikely
to agree that conservationists should consider the helpful aspects of invasive species before
executing a controlled burn.
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33. The question asks how the diagram and its text provide additional support for the topic
presented in the passage.

A. CORRECT. The text of the diagram states that “by using a patch-burn method,
conservationists and farmers can reduce the risk of unintentional fires and control where
grazing animals, such as bison, roam.” By showing the pattern of controlled burns and the
resulting bison migration in a given area, the diagram depicts how the landscape changes as
the patch-burn method is applied.

B. Incorrect. Although the text mentions areas “where grazing animals, such as bison, roam,”
the diagram does not depict distinctive features of the land such as trees or brush and
therefore does not indicate that patch-burn fires are best suited for use in areas with certain
features.

C. Incorrect. While the text mentions “grazing animals, such as bison” and the diagram shows
the bison grazing in only one area, the diagram and its text do not indicate that the patch-
burn method is used on uninhabited land.

D. Incorrect. While the areas of land depicted in the diagram do indicate that the sizes of the
areas differ, the text provided does not compare the sizes of the areas burned by the patch-
burn method with those of unburned areas or indicate that this factor is important in
reducing the risk of uncontrolled fires or controlling "“where grazing animals, such as bison,
roam.”

34. The question asks how the similarity in the construction of lines 1 and 8 contributes to the
meaning of the poem.

E. CORRECT. In line 1, the first speaker asserts, *“What I am is built: concrete and steel,” and
in line 8 the second speaker states, “What I am is motion. I am water, and I am older.” The
similarities in the construction of these lines contribute to the meaning of the poem by
establishing each speaker’s defining feature.

F. Incorrect. The focus of the lines is defining the speakers’ individuality, not how one speaker
resolves a problem created by the other.

G. Incorrect. The structure is not stating in line 1 that it is limited because it was built to stand
in place; on the contrary, the structure is stating that this sense of purpose and permanence
is its strength.

H. Incorrect. Although in these lines the first speaker asserts "I am . . . built: concrete and
steel” (line 1) and the second speaker asserts "I am . . . motion” (line 8), the construction of
these lines does not contrast the stability and instability of the speakers. Rather, each
speaker highlights its own features.
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35.

The question asks how lines 2-4 and 12-14 contribute to the development of a central idea in
the poem.

A.

Incorrect. Although the phrases “remain[ing] at the apex of the leap” in line 3 and "I catch
everything” in line 13 suggest the idea of endurance and control, the lines do not establish
that both the structure and the water have endurance and control, because the water also
states, “I pool / and flow wherever gravity takes me"” (lines 10-11).

CORRECT. The lines "I am what every athlete / wants” (lines 2-3) and “I am the blood
flowing in the runner’s chest” (line 12) communicate that each speaker is an object of
admiration and a powerful force.

Incorrect. The lines describe opposing characteristics: the structure’s description conveys
stillness—remaining “up in the air” (line 4)—while the water’s description conveys
movement—"flowing in the runner’s chest” (line 12).

. Incorrect. The first speaker states, "I am what every athlete / wants” in lines 2-3, and the

second speaker states, “I am the blood flowing in the runner’s chest” in line 12. The
similarity of these metaphors may seem to suggest interrelationship, but the structures do
not reveal surprise that they are interrelated.

36.

The question asks which idea the use of the words “siblings” and “my sisters and brothers” in
lines 31-32 conveys in the poem.

Incorrect. Although in line 29 the structure refers to itself as “being rebuilt” or taking on new
forms, this idea is expressed to reinforce the idea that the structure’s presence is eternal (“a
friend of time,” line 30). The use of the words “siblings” and “my sisters and brothers” in
lines 31-32 does suggest that a variety of structures exist, but no comparison is drawn to
suggest that the varieties of structures are more diverse than the forms of water.

Incorrect. While the use of the words “siblings” and “my sisters and brothers” in lines 31-32
conveys the idea that structures can be replicated by being built, it does not convey the idea
that the number of human-made structures is rapidly increasing.

. Incorrect. Although in line 33 the structure states, "We stitch across the rip you make,”

suggesting that water passes under structures, the use of the words “siblings” and “my
sisters and brothers” in lines 31-32 does not convey the idea that the structures that the
water passes under are similar-looking.

. CORRECT. The use of the words “siblings” and “my sisters and brothers” in lines 31-32

conveys the idea that the structure is powerful because it is one of many and because these
structures “stitch across the rip” (line 33) that water makes.
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37. The question asks what the comparison in lines 33-35 shows about the structure.

A. Incorrect. Although the structure states in line 33 that structures like itself “stitch across the

rip” water makes, which may seem to suggest that the structures restore beauty to a ruined
landscape, the language in the lines is used only to suggest that the structure is a tool used
to unify the physical landscapes that humans inhabit.

Incorrect. While the water states that it enables “empires to rise” (line 25), implying that it is
needed for society to thrive, the structure never expresses the idea that it serves the purpose
of bringing people together through its existence.

Incorrect. Although the phrases “"We stitch across” (line 33) and “"We bind you up” (line 35)
suggest the existence of boundaries, the comparisons made in lines 33-35 do not help show
that the structure provides clear boundaries for natural environments.

. CORRECT. The speaker states, “"We are steel thread to the human needle” (line 34), which

"

illustrates that the structure and others like it are tools used by humans to “bind . . . up
(line 35) or overcome “the rip” (line 33) that the water creates in the earth.

38. The question asks how the last stanza conveys a central idea in the poem.

Incorrect. Although in the last stanza the water states, “my vapors cling. / They bring out
your softness, your rust,” the water does not depend on the structure; instead, the water
destroys it over time. The structure depends on the power of water for its ability to fulfill its
function.

Incorrect. The last stanza refers to the opposing speaker (the structure) and not to any other
structure.

Incorrect. While in the last two lines of the poem the water states, “Because I am, / above all
else, patient. I will wait for you,” implying that the water can withstand the ravages of time,
the phrase “your softness, your rust” (line 38) indicates that the structure cannot. Therefore,
the last stanza does not reveal that the passage of time will render both the structure and
the water obsolete.

CORRECT. In lines 36-38, the water describes how its “vapors cling” to the structure,
bringing out the structure’s “softness” and “rust,” destroying the structure over time. Also, in
line 42, the water says it is “patient” and “will wait for” the structure, suggesting that the
speaker will be around long after the structure is gone.
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39. The question asks how the implication in lines 41-42 is supported by other lines in the poem.

A. CORRECT. The words “patient” and “wait” in line 42 suggest that the water has the ability to
outlast the structure, because the water doesn’t weaken as it ages.

B. Incorrect. Although the statement “No human / built me” in lines 9-10 suggests that the
speaker existed prior to humans, which may seem to support the idea of endurance in line
42, this answer is incorrect because in lines 41-42 the speaker is referring to outlasting the
structure, not humans.

C. Incorrect. While the statement “It all washes down through me" in line 14 suggests that
everything in the natural world is interrelated, the water sets itself apart from the human-
made structure because it asserts that it will outlast the other structure and is “above all
else, patient” (line 42).

D. Incorrect. In line 26, the water’s knowledge does not make its ability to wait any stronger—
rather, its seemingly unending lifespan does.

40. The question asks how the poet develops the two points of view.

E. Incorrect. While the poem relates how the water views the structure as “an artifact / slowly
decaying” in lines 23-24 and the structure refers to itself as “a friend of time” in line 30, the
poet does not give an account of a discussion about the future of human civilization between
the structure and the water in the poem.

F. Incorrect. While the speakers do discuss their impact on the environment, there is no
narrator speaking for them.

III

G. Incorrect. Although the structure states it is made of “concrete and steel” (line 1) and is a
“steel thread to the human needle” (line 34), only the water claims to possess power over
nature, stating that “all washes down through me"” (line 14) and “what I am is power” in
line 22.

H. CORRECT. The poet develops the speakers’ points of view by personifying (giving human
characteristics to something nonhuman such as an object or animal) the structure and the
water, allowing them to debate by criticizing each other and declaring their own importance.

41. The question asks how the form of the poem contributes to its meaning.

A. Incorrect. The number of lines in each stanza does not emphasize the importance of the two
speakers.

B. Incorrect. Italics are used mainly to designate the voice of the second speaker (the water).

C. CORRECT. The alternating positions of the stanzas create the appearance of a conversation
in which the speakers share their opposing points of view.

D. Incorrect. The lack of rhyme scheme or meter is intended to create a conversational tone
rather than reflect the changes the water causes or experiences.
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Excerpt from “Impressions of an Indian Childhood”

42. The question asks how the phrases “cool morning breezes swept freely” and “wafting the
perfume of sweet grasses” affect the tone of paragraph 1 in the excerpt.

Incorrect. Although the author describes in paragraph 1 the setting of her childhood
experiences, the positive wording of the phrases the author uses in the paragraph (“swept
freely” and “perfume of sweet grasses”) does not suggest a tone of sadness the author feels
when she reflects on her former way of life.

Incorrect. Although the phrases “cool morning breezes swept freely” and “wafting the
perfume of sweet grasses” used in paragraph 1 create a positive tone, the phrases do not
suggest an enthusiasm for the author’s work but rather an appreciation of the peaceful
beauty of her childhood.

. CORRECT. In paragraph 1, the phrases “cool morning breezes swept freely” and “wafting the

perfume of sweet grasses” are used to describe where the author’s childhood experiences
took place. The phrases create a tone of fondness and evoke a feeling of happiness through
their lyrical sensory detail: “swept freely” suggests a sense of joyful possibility, while
“perfume,” “sweet,” and “cool” convey delight.

. Incorrect. Although the author describes her mother’s beadwork lessons as “confining” in

paragraph 7, the phrases in paragraph 1 do not suggest that the author feels conflicting or
mixed emotions toward her work and her mother. Instead, the phrases convey a positive tone
by affectionately describing the author’s childhood home.

43. The question asks what the phrase “just as an artist arranges the paints upon his palette” in
paragraph 2 suggests in the excerpt.

A. CORRECT. In paragraph 2, by comparing the way her mother arranges the beads to the way

a painter “arranges the paints upon his palette,” the author emphasizes that her mother
approaches her craft just as a painter does, thus suggesting that beadwork is a true form of
art.

Incorrect. Although the author mentions “bunches of colored beads” in paragraph 2, this
detail does not provide enough evidence for the idea that color inspires beadworkers. The
phrase “just as an artist arranges the paints upon his palette” indicates the connection of
beadwork to other forms of art in general, not necessarily to the specifics of color as a source
of inspiration.

. Incorrect. In paragraph 2, the author describes her mother “untying the long tasseled

strings” and then spreading “upon a mat beside her bunches of colored beads.” However, the
phrase “just as an artist arranges the paints upon his palette” does not suggest that all
artistic activities begin with a series of steps. There is no mention in the passage of any other
artistic activities involving multiple initial steps.

. Incorrect. In paragraph 2, the author describes how her mother “spread upon a mat beside

her bunches of colored beads” as the first step in the artistic process described in the
passage. Therefore, the comparison between the mother’s process and a painter arranging
paints on a palette suggests that the mother is creating art, not imitating it. There is no
indication that the mother is copying a technique she has seen in other art forms.
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44. The question asks how the author’s use of sequence in paragraphs 1 and 2 contributes to the
development of ideas in the excerpt.

Incorrect. In paragraph 2, the author does list the steps her mother takes in preparation to
do beadwork, such as “untying the long tasseled strings” of the bag of beads, spreading the
beads beside her on a mat, and using “a long, narrow blade” to trim the buckskin into shape.
However, the language used to describe this sequence does not indicate that preparing to
work with beads is difficult or complex.

Incorrect. Although the author’s description of untying the bag of beads, spreading the beads
upon a mat, smoothing out a sheet of buckskin, and trimming the buckskin into shape in
paragraph 2 indicates that the mother follows a certain routine, it does not place any
emphasis on working most efficiently by following the steps of the beading process in a
precise order.

. Incorrect. In paragraph 2, the author describes her mother “untying the long tasseled strings

" \\

that bound a small brown buckskin bag,” “spread[ing them] upon a mat beside her bunches
of colored beads,” “smooth[ing] out a double sheet of soft white buckskin; and drawing from
a beaded case that hung on the left of her wide belt a long, narrow blade” to trim the
buckskin. Although these descriptions do outline the steps in her process for creating
beadwork, they do not emphasize the time required to do so, since the author does not
mention in the excerpt how long it took her mother to fully prepare for and complete the
large and small tasks in the activity of beading.

. CORRECT. In paragraph 1, the author describes how the morning begins with her mother

rolling up the canvas of the wigwam and allowing the breeze to come in. In paragraph 2, the
author uses sensory language and precise sequencing to describe the way her mother
prepares the beading materials by untying “the long tasseled strings that bound a small
brown buckskin bag,” spreading the “bunches of colored beads” beside her, and smoothing
out “a double sheet of soft white buckskin.” This combination of sequence and sensory
language highlights the author’s enthusiasm for beadwork by emphasizing that the author
pays close attention to her mother’s preparations.
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45. The question asks how the details in paragraph 3 convey a central idea of the excerpt.

A. Incorrect. In paragraph 2, the author mentions how her mother “worked upon small
moccasins for her small daughter” and when she did, the author “"became intensely
interested in her [mother’s] designing.” However, in paragraph 3, the author is interested in
her mother’s work mainly as part of her “lessons in the art of beadwork,” not because she
knew her mother was making something for her.

B. Incorrect. In paragraph 3, the author receives “practical observation lessons in the art of
beadwork” and describes how “from a skein of finely twisted threads of silvery sinews my
mother pulled out a single one” and “pierced the buckskin, and skillfully threaded it with the
white sinew.” The author describes the process in such detail that she provides no indication
that she had difficulty learning through observation. The author also does not give any
indication in the paragraph that she wanted to help her mother; she was there merely to
observe and learn.

C. Incorrect. Although the author refers to her beading lessons with her mother as “practical
observation lessons in the art of beadwork” and indicates that she sat “close beside” her
mother while observing her beadwork, the author provides no indication in the paragraph
that she was determined to behave according to her mother’s standards or that she sought
her mother’s approval.

D. CORRECT. In paragraph 3, the author describes her mother’s artistry and craftsmanship by
using language such as “skillfully threaded,” “picking up the tiny beads one by one,” and
“twisting it carefully after every stitch.” These close observations indicate that the author
greatly admired her mother’s mastery of her craft and the precision that went into every
detail of her work.
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46. The question asks which sentence best summarizes the process of beading that is described in
the excerpt.

Incorrect. In paragraphs 2 and 3, the author describes how at the beginning of the process
her mother “smoothed out a double sheet of soft white buckskin” on a lapboard

(paragraph 2) and how she strings the beads into a pattern. However, this sentence does not
describe the steps that take place between the preparation and the stringing of the beads.
Thus, this sentence does not best summarize the beading process.

Incorrect. In paragraphs 2 and 3, the author describes the process her mother uses to string
the beads with “the point of her thread, always twisting it carefully after every stitch”
(paragraph 3). While this sentence includes some of the steps in the beading process, it does
not describe the preparation that must take place before beginning the task, namely
spreading the beads and the buckskin out on a table. Thus, this sentence does not best
summarize the beading process.

. CORRECT. This sentence best summarizes the process of beading that is described in the

excerpt because it includes details about each step in the process. In paragraph 2, the author
explains how her mother “spread upon a mat beside her bunches of colored beads” and how
“on a lapboard she smoothed out a double sheet of soft white buckskin; and drawing from a
beaded case that hung on the left of her wide belt a long, narrow blade, she trimmed the
buckskin into shape.” The author continues her description in paragraph 3, stating, “"From a
skein of finely twisted threads of silvery sinews my mother pulled out a single one. With an
awl she pierced the buckskin, and skillfully threaded it with the white sinew. Picking up the
tiny beads one by one, she strung them with the point of her thread, always twisting it
carefully after every stitch.”

. Incorrect. In paragraphs 2 and 3, the author describes the process her mother uses as she

“smoothed out a double sheet of soft white buckskin” (paragraph 2) on a lapboard before
stringing the beads. While this sentence includes most of the steps in the beading process, it
excludes the step of piercing the buckskin. This sentence also provides few details about the
process of beading and uses vague wording to describe each step. Therefore, the sentence
does not best summarize the beading process.
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47. The question asks how the idea that mastering moccasin design and creation requires experience
is best illustrated in the excerpt.

A. CORRECT. In paragraph 6, the author states that when she became more familiar with
elements of design, “a harder lesson was given me.” According to the author, sewing on
porcupine quills is a much more difficult task to master because it requires experience in
handling the poisonous porcupine quills, which is why her mother told her not to “do much
alone in quills” until she was older (paragraph 6). This information best illustrates the idea
that mastering moccasin design and creation requires experience.

B. Incorrect. Although the author provides detailed descriptions of the materials used to make
decorated moccasins (“colored beads” [paragraph 2]; “a skein of finely twisted threads of
silvery sinews” [paragraph 3]; “tinted porcupine quills, moistened and flattened between the
nails of the thumb and forefinger” [paragraph 6]), these descriptions do not illustrate the
experience that is needed to gain mastery of moccasin design and creation.

C. Incorrect. Although the author describes the color combinations she used in making
moccasins ("I was pleased with an outline of yellow upon a background of dark blue, or a
combination of red and myrtle-green. There was another of red with a bluish-gray that was
more conventionally used” [paragraph 6]), this information mainly illustrates the author’s
satisfaction with her moccasin design, not the importance of experience in mastering the
creation and design of moccasins.

D. Incorrect. In paragraph 7, the author tells of using a sharpened rod to spear gum from trees.
She explains that she and her playmates used the rods to “[pry] up certain sweet roots” to
find the gum. The detail of the sharpened rod is from a recollection about the playtime that
followed the “confining lessons” of moccasin making. However, the sharpened rod was not
used to create moccasins.
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48. The question asks how the author distinguishes her point of view from that of her mother.

E. Incorrect. In paragraph 4, the author explains that “it took many trials before I learned how
to knot my sinew thread on the point of my finger, as I saw her do” and that the “difficulty
was in keeping my thread stiffly twisted, so that I could easily string my beads upon it.”
Although this explanation describes the author’s difficulty in performing the same task as her
mother, it does not distinguish her point of view from that of her mother. In fact, they seem
to share the same point of view regarding the importance of the technique the author is
attempting to learn.

F. CORRECT. In paragraph 5, the author distinguishes her point of view from that of her
mother by describing their approaches to beadwork design. In the paragraph, the author
states, "I usually drew easy and simple crosses and squares” and that “my original designs
were not always symmetrical nor sufficiently characteristic, two faults with which my mother
had little patience.” The author also distinguishes her point of view from that her of mother
by stating that “the quietness of [my mother’s] oversight made me feel strongly responsible
and dependent upon my own judgment.”

G. Incorrect. In paragraph 6, the author states, "My mother cut off the prickly ends and burned
them at once in the centre fire. These sharp points were poisonous, and worked into the flesh
wherever they lodged. For this reason, my mother said, I should not do much alone in quills
until I was as tall as my cousin Warca-Ziwin.” Although these instructions explain the
importance of having experience and skill when working with quills, they do not distinguish
the author’s point of view from that of her mother.

H. Incorrect. In paragraph 7, the author describes her beadwork lessons as “confining” and
states that she liked to roam “over the hills” with her playmates after the lessons. However,
she makes no mention of her mother in paragraph 7; the activities and ideas stated there
belong to the author, not the mother.
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49. The question asks which sentence best describes how the sentence from paragraph 7 fits into the
overall structure of the excerpt.

A. Incorrect. Though the author feels humiliated “when some boldness of mine drew forth a
rebuke from” her mother (paragraph 5) and characterizes her lessons with her mother as
“confining” (paragraph 7), the overall passage does not portray a demanding relationship
between the author and the mother. The shift introduced in the sentence from paragraph 7 is
not from one of the author’s relationships to another; it is from work to play.

B. Incorrect. In paragraph 6, the author explains how working with porcupine quills is difficult
because the “sharp points were poisonous, and worked into the flesh wherever they lodged.”
Although this sentence suggests that working with porcupine quills was challenging, the
sentence from paragraph 7 does not signal a change from the challenging aspects of life on
the reservation to the advantages of living on the prairie. Most of paragraph 6 describes the
author’s pleasure in creating designs in different colors.

C. CORRECT. In the sentence from paragraph 7, the author refers to her beadwork lessons as
“confining” and states that after the lessons, she “was wild with surplus spirits” and “found
joyous relief” in being outside and running around. The phrases “surplus spirits” and “joyous
relief” highlight a sense of freedom that stands in strong contrast to the “confining” nature of
the author’s beadwork lessons, which required intense focus and control.

D. Incorrect. In paragraph 7, the author describes how “many a summer afternoon” after her
beadwork lessons, she and her friends used “a light sharpened rod” to gather “sweet roots”
and “little crystal drops of gum.” She then explains that they later “tossed away our gum, to
return again to the sweet roots.” However, the sentence from paragraph 7 does not conclude
the progression of events in the narrative by describing the sequence of events at the end of
the author’s day; the sentence appears at the beginning of paragraph 7 and provides a
contrast with events from the previous paragraph.

229



50. The question asks how the table after paragraph 7 expands upon a central idea in the excerpt.

E. CORRECT. The table provides the chronology from the 1500s, when the Dakota created
beadwork using “beads made from bones, shells, stones, and animal teeth,” to the 1830s,
when the Dakota began “using glass beads,” and the 1900s, when they created items to “sell
outside their community.” Thus, the table helps expand on a central idea by showing that the
craft the author was learning is a tradition that has endured through many generations.

F. Incorrect. Although the table shows that the Dakota used “beads made from bones, shells,
stones, and animal teeth” in the 1500s and that by the 1830s began “using glass beads in
clothing, artwork, and decorations in place of Native-made beads,” it does not provide any
information about the type of materials used by the author’s family.

G. Incorrect. While the information included in the table states that "European traders [brought]
glass beads to North America” in the 1500s and that by the 1920s the Dakota created “items
to sell outside their community,” there is no mention of whether the uniqueness of Dakota
beadwork was recognized in Europe.

H. Incorrect. The table indicates that by the late 1600s the Dakota began trading with French
traders from Europe who brought glass beads to the Americas and that by 1830 the Dakota
were “using glass beads in clothing, artwork, and decorations in place of Native-made beads.
However, the table provides no information about whether this work incorporated color.
Therefore, the table does not show that the author was able to incorporate color into her
craftwork as a result of trade with other peoples.

14

Excerpt from “Niagara Falls”

51. The question asks for a specific detail from paragraph 2 that conveys the central idea that the
Falls communicate a feeling of “unintelligible disaster” (paragraph 1).

A. Incorrect. Although the author describes the water as “richly diaphanous as a precious stone”
and states that it “glow([s] from within with a deep, inexplicable light” in paragraph 2, the
comparison does not convey the central idea that the Falls communicate a feeling of
“unintelligible disaster” (paragraph 1); rather, the description communicates a feeling of awe.

B. Incorrect. The details in paragraph 2 about the flow of colors in the water are described as an
“ever-altering wonder,” which conveys a sense of beauty, not a sense of disaster.

C. Incorrect. The rainbows in paragraph 2 are described as “vivid” and accompanying someone
“courteously” while he or she walks, which contributes to the idea that the appearance and
disappearance of the rainbows are a pleasant experience and not disastrous.

D. CORRECT. The sound of falling is described in paragraph 2 as “a noise of unspecified ruin,”
so this option is correct because it best connects with the idea of “unintelligible disaster”
mentioned in paragraph 1.
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52. The question asks for the effect of the comparison being made in the sentence in paragraph 2.

Incorrect. Neither “lacework and woven foam” (paragraph 2) nor the quality of being
extremely level are related to timelessness.

Incorrect. Although the author states in paragraph 1 that “the real secret of the beauty and
terror of the Falls is not their height or width, but the feeling of colossal power,” the purpose
of comparing the American Falls to a “long curtain of lacework and woven foam” in
paragraph 2 is not to explain the secretive nature of the Falls but rather to describe their
beauty and uniformity.

. CORRECT. The word “lacework” in the sentence from paragraph 2 suggests an elegant piece

Ill

of craftsmanship, and the “one long curtain” and “extraordinarily leve
mean that the Falls are uniform or consistent.

aspects of the Falls

. Incorrect. Although the author states in paragraph 1 that the Falls inspire a “feeling of

colossal power,” in paragraph 2 the author describes the American Falls as “delicate and
fragile.” Therefore, the purpose of the comparison in paragraph 2 is not to communicate the
intense strength of the Falls.

53. The question asks for the statement that best describes how the sentence from paragraph 3 fits
into the overall structure of the excerpt.

A. Incorrect. Although in paragraph 2 the author describes the beauty of the Falls as both an

“ever-altering wonder” and an “assault of wind and spray,” in paragraph 3 the author does
not signal a change from the positive aspects of the Falls to the negative aspects. Instead,
the author provides a description of the river and the rapids below the Falls.

Incorrect. While the author compares the water of the river to “a slipping floor of marble,
green with veins of dirty white, made by the scum that was foam” in paragraph 3, the
statement that the lower rapids are “more terrifying than the Falls, because less intelligible”
does not indicate a progression from the literal description of the water to a discussion of
timeless truths. Instead, the author is merely describing all aspects of the rapids, both
literally and figuratively.

CORRECT. The first sentence of paragraph 3 moves the description “beyond the foot of the
Falls” to “the river” and then the paragraph begins to describe this location in further detail
(“a dull sage green,” “hurries more swiftly,” “smooth and ominous,” “waters boil and eddy”)
before reinforcing this shift by confirming it again with the words “These are the lower rapids,
a sight more terrifying than the Falls.”

” \

. Incorrect. Although the author states that the waters of the rapids “boil and eddy” and

suggests that the rapids are “less intelligible,” these statements do not introduce a contrast
between the obvious and the hidden features of the rapids. They merely describe a feature
and the sight of the lower rapids.
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54.

The question asks for the sentence from the excerpt that best supports the idea that the essence
of the Falls lies in their emotional impact.

CORRECT. The first sentence in the excerpt establishes that “the real secret of the beauty
and terror of the Falls” lies in “the feeling of colossal power and of unintelligible disaster.” This
option states that “if that [feeling] were taken away, . . . the heart would be gone,” meaning
that the emotional impact of the Falls is essential.

Incorrect. While “delicate” and “fragile” are words that can be connected with certain kinds of
emotions, in the sentence in the option they are connected with physical beauty.

. Incorrect. While the sentence in the option describes the power of the Falls to engage one in

thought, it does not best support the idea that the essence of the Falls lies in their emotional
impact.

. Incorrect. The sentence in the option describes thoughts one may have while watching the

Falls and is not focused on the Falls’ emotional impact.

55.

The question asks how the sentence from paragraph 4 contributes to the development of ideas in
the excerpt.

A.

Incorrect. The sentence focuses on the idea that the Falls are a great place for contemplation
but does not clarify that these thoughts are life-changing.

Incorrect. The sentence does not describe focused thoughts of a personal nature; the grand,
sweeping nature of the Falls inspires thoughts of the same caliber as “the passage of
empires.”

Incorrect. The sentence is about how the Falls inspire great thoughts but is not about how
difficult it is to grasp the grandeur of the Falls.

. CORRECT. The description of “cloudy thoughts of destiny and the passage of empires” in the

sentence refers to the types of thoughts a person might have while observing the Falls.
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56.

The question asks how the discussion of human life and history is illustrated in paragraph 4 of
the excerpt.

Incorrect. In paragraph 4, the author compares the rainbows visible in the Falls to “the arts
and beauty,” which share the rainbows’ dependence on “the stream of life” that is “caused by
it, thrown upon its spray, but unable to stay or direct or affect it, and ceasing when it
ceased.” This comparison does not illustrate the idea that human life and history travel
toward the same ending but rather that art and beauty, like human beings, are unable to
“stay or direct or affect” their ultimate fate.

CORRECT. The author concludes in paragraph 4 that the Falls can be compared to people
and history by writing, “both men and nations are hurried onwards to their ruin or ending as
inevitably as this dark flood.”

. Incorrect. Although in paragraph 4 the author states, "One is drawn back, strangely, to a

contemplation of the Falls” and provides an account of “a friend, who said that the rainbows
over the Falls were like the arts and beauty and goodness, with regard to the stream of life,”
the author does not provide details to show that every observer’s experience with the Falls is
different. Rather, the author explains that “the Victorian lies very close below the surface in
every man” (paragraph 4).

. Incorrect. While the setting at night does provide a place of contemplation, the author notes

the “dark flood” as the overall illustration of the human experience.

57.

The question asks for the statement the author would agree with most.

A. CORRECT. In paragraph 4, the author states that the Falls make a person fee

C.

I\\

with an
almost insupportable and yet comforting certitude, that both men and nations are hurried
onwards to their ruin or ending.” Later, the final sentence says, "With some such thoughts
does the platitudinous heart win from the confusion and thunder of a Niagara peace.”

. Incorrect. Although in paragraph 4 the author states that “"one can sit and let great cloudy

thoughts of destiny and the passage of empires drift through the mind; for such dreams are
at home by Niagara” and that “a man’s life is of many flashing moments,” the author does
not suggest that one will always have regrets no matter where one’s path goes in life.

Incorrect. While the excerpt discusses fear when experiencing the power of the Falls, the
excerpt does not support the idea that one should defy fear.

D. Incorrect. The excerpt states in paragraph 4 that art is “unable to stay.”
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FORM B

58.

SAMPLE TEST - MATHEMATICS

EXPLANATIONS OF CORRECT ANSWERS

3

(-0.8) First distribute e over (2x +5) to 60.

get the expression %x +3 - 2x.

In order to combine the like terms, first
express —2x as —%x and then add the

like terms.
§x+3+(—£x)= —ix+3-
5 5 5

The coefficient of x is —% .

When expressed as a decimal, —% = —0.8.

59.

(5) There will be 5 different outcomes

with a sum of 6.

1+5=6
2+4=6
3+3=6
4+2=6
5+1=6

(95) First, find the perimeter of the

figure.

Two sides do not have labels. Because the
top of the figure measures 13 cm and the
bottom shows a length measuring 8 cm,
the horizontal side without a label

measures 5cm (13 - 8).

Because the left side of the figure
measures 6 cm and the right side shows a
length measuring 3 cm, the vertical side

without a label measures 3 cm (6 - 3).

So the total perimeter of the scale

drawing is

13+3+5+3+8+6=38cm

Use the scale to find the perimeter of the

actual garden.

lcm _ 38 cm

25m pm

p=25x38=095

61.
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(21) The 11:00 a.m. temperature is 3.5
times greater than the 9:00 a.m.
temperature. The 9:00 a.m. temperature

was 4° F.
4x3.5=14
The temperature increased from —7° F at

5:00 a.m. to 14° Fat 11:00 a.m., which is

an increase of 21° F.



62.

(32) The volume of a triangular prism is 65.

found by multiplying the area of the
triangular base by the height of the prism.

The area of the triangular base of the

1 1
—bh = =(4)(8) = 16.
prism is 5 2( )(8)

The height of the triangular prism is

2 inches.

So the volume of the triangular prism, in
cubic inches, is 16«2 = 32.

(€) = =

2x 8
9x8=72
2x x 3y = 6xy
72 = 6xy
12 = xy

Since 72 divided by 6 is 12, the product of

x and y equals 12.

63.

(A) The x-axis represents the length of
the pole, in feet, and the y-axis represents

the weight of the pole, in ounces.

The point (1, 4) means that a 1-foot pole

66.

(E)
15,600 x 12% = 15,600 x 0.12 = 1,872

15,600 -1,872 = 13,728

would weigh 4 ounces.

Since the graph is linear, this shows that
for every 1 foot of length, the pole weighs

4 additional ounces.

So the unit rate is 4 ounces per foot.

64.

(F) Find the sum of 2.5+ (-4.5).

2.5+(-4.5)=2.5-4.5=-2

Point B is located at —2.
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67.

B) 42.21_14_5_

3 2 3 2
14 2 _28_,13
3 5 15 15



70.

68. (F) Since the ratio of assistants to players
is 1 , that means
6
1 _ x
6 36
36 _,
6
6=x
There are a total of 6 assistants.
The ratio of coaches to assistants is then
3_1
6 2
69.

(A) If each post is 10 feet long and 3%

feet of the post is below ground, then the

difference between the two amounts is the

height of the post that is above ground.

10-3L

3
10 _10
1 3

01020 62 e
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(F) First substitute 2 for r in the equation.

p+2r=r(p+1)+1

p+212)=2(p+1)+1

Then solve for p.

p+22)=2(p+1)+1

p+4=2p+2+1

p+4=2p+3

p+(4-3)=2p+(3-3)

p+1=2p

(p-p)+1=2p-p

1=p

The value of p is 1.



71.

(B) First, determine the rate at which
Martina reads, in pages per day, using the
rate at which Karen reads, 60 pages per

day.

60 + 60 + 22 = 60 + 60+ 0.25 =
100
60+15 =75
Next, determine the number of days it will

take each person to complete the 1,500-

page reading assignment.

Karen: 1,500 pages _ 60 pages
k days 1 day
60k = 1,500

(60 - 60)k = 1,500 + 60

k = 25 days

Martina: 1,500 pages _ 75 pages
m days 1 day

75m =1,500

(75 = 75)m = 1,500 = 75

m = 20 days

Finally, determine the difference between

the two numbers of days.

25-20=5

The answer is 5 days.

72.

(H) Claire’s goal is to run at least
2,500 meters, and she has already run

650 meters.

2,500 - 650 = 1,850

Claire has at least 1,850 meters left to
run. Divide by the distance around the
track to find the number of laps she needs

to complete.

1,850 =+ 120 = 15.417

Since she wants to run at least
2,500 meters, round 15.417 up to 16.
Claire needs to run 16 laps to meet her

goal.
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73.

(D) 2005 to 2010:

25% = 0.25

200 x 0.25 =50

The 50 employees are added to 200. The

new total number is 250.

2010 to 2015:

10% = 0.10

250x0.10 = 25

The 25 employees are added to 250. The

total number of employees in 2015 is 275.



76.

(E) There is a proportional relationship
between the length of the race, x miles,
and the number of water stations, y. The

constant of proportionality is

y_2

Therefore, the equation y = %x

represents this relationship.

74. (E) The probability of choosing a green
candy is twice as great as the probability
of choosing a red candy. There are 12
green candies.
12 = 2r
r==6
So there are 6 red candies. 12 green
candies + 4 yellow candies + 6 red
candies = 22 total candies.
There are 4 yellow candies out of a total
of 22 candies. The probability of choosing
a yellow candy is
4 _2
22 11

75. (B) Since 100% means all customers,

100% - 99.7% = 0.3%

Rewrite the percent as a decimal.

0.3% = 0.003

Now rewrite the decimal as a fraction.

3
1,000

0.003 =

77.

(B) If half the undecided voters (half of
20) vote in favor of building the park, the
total number of “yes” votes from the

survey will be 152.
142 +10 = 152
There are 24,100 voters, and 200

residents were surveyed. Set up a

proportion to solve.

152 _ X
200 24,100
19 . x
25 24,100

(24,100)[%] = x

18,316 = x



78.

(E) All the numbers are negative, so they
are all less than zero. Consider the
absolute value of each number and where
it falls on a number line. The negative

number closest to 0 will be the greatest.

The negative number with the greatest
absolute value is =49, so it has the least

value.

The negative number with the next
greatest absolute value is -1, so it would

fall next in order from least to greatest.

-49, -1

Compare the absolute values of
-1 and —l.
49 7

1 _1
49 7
Therefore, the numbers listed from least

to greatest are:

“49,-1,-1, -1
7 49

-1 is the greatest.
49

80.

(H) Each loaf of bread requires % ounce
of salt. Therefore, the baker can make 5
loaves of bread with 1 ounce of salt.
Multiply to find the number of loaves that
can be made with 40 ounces of salt.

5x40 = 200

79.

(C) Calculate the decimal equivalent of
_13
11

—%%—:-—L18181818_.= ~1.18.
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81.

(D) First, subtract to simplify.

15 16 _1
7 "7 _ 7 _
34 _36 2
7 "7 7

Follow the process for dividing fractions:

)



82.

(F) Split the compound inequality into two 83.

inequalities.

-5<1-3x and1-3x<4

For each inequality, subtract 1 from each

side.

-6 <—-3x and 3x <3

For each inequality, divide both sides by
—3. Note that dividing each side of an
inequality by a negative humber changes

the direction of the inequality.

2>x and x =1

Combining the pieces gives the compound

inequality -1 < x < 2.

The solution is that x is greater than or
equal to -1 and less than or equal to 2,
so choose the graph with filled circles at
-1 and 2, with the filled segment between

(D) Set up a proportion:

1sind _ xsinds
0.75 plunk 8 plunks

1(8) = 0.75x

_ 75,
100

10.67 = x

the circles.

84.
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(F) 8x — (7 +2.5x) + 2
First, distribute -1 over 7 + 2.5x.

8x -7-2.5x+2

Then combine the like terms.

55x -5

The simplified form of the expression is
5.5x - 5.



85.

(B) 3 bicycles every 4 hours = 3 bicycles 86.

every 240 minutes (4 x 60 min)

240 min + 3 bicycles = 80 min per bicycle

5 bicycles x 80 min = 400 min

400 min =§hr=6;hr
60 min/hr 3 3
2

§x60 min = 40 min

6% hr = 6 hr 40 min
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(G) Jar Q contains 12 balls, and the

probability of drawing a yellow ball at

random is l.
3

1.,4_4
3 4

There are 4 yellow balls in Jar Q.

Jar R contains 8 balls, and the probability

of drawing a yellow ball at random is %

3,2_6
4

2 8

There are 6 yellow balls in Jar R.

Jar S contains all the balls from Jar Q and
Jar R.

12+8 =20

There are 20 balls in Jar S.

4+6=10

There are 10 yellow balls in Jar S.

20 10 2

10 .10 _ 1

The probability of drawing a yellow ball at

random from Jar S is %



87.

(D) The ratio of pretzels to raisins in Gia's 90.

bag of snack mix, 12:9, is equivalent to
the ratio of pretzels to raisins in Trevon’s
bag, 16:12.

12 _16 _ 4

9 12 3

88.

(@) First, substitute 4x for each y in the

expression.

(F) First, determine 10% of |x| .

0.10.

x| =0.10-

-4 =0.10-4=0.4

Then determine the sum of x and 10% of

[

-4 +04=-3.6

The sumis —3.6.

3y +2(3y +5) - x = 91.

3(4x) + 2[3(4x) + 5] - X

Then simplify the expression.
3(4x) + 2[3(4x) + 5:| - X
12x +2(12x +5) - x

12x +24x +10 - x
12x +24x - x + 10

35x +10

The simplified expression is 35x + 10.

89.

(C) The formula for area of a circle is

A=nr2.

The radius of a circle is half its diameter.

The diameter is given for each circle.

18+2=9,and 12 +2 =6

9?1 - 6°n = (81 - 36)n = 45n
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(A) The volume of a cube is V = 53,

where s is the length of one edge.
So 512 = s>, and s = 3512.

If you are not sure how to find the cube

root, you can estimate.

We know 10 x 10 x 10 = 103 = 1,000, so

31,000 = 10.

Since 512 is less than 1,000, the answer
must be less than 10. The only given
option less than 10 is 8. Double-check to
make sure this is correct:

83 =8x8x8=512,



92.

(F) The temperature on Tuesday was 94,

84° F, which was 5% higher than the

temperature on Monday.

This can be represented by the equation
84 = 1.05x.

Dividing both sides of this equation by
1.05 gives x = 80.

(E) The total number of days (86) is

divided by the number of days in a week
(7).

86 + 7 =12, with a remainder of 2

The 2 days are counted back from

Tuesday, so the first performance was on
a Sunday.

Therefore, the temperature on Monday

95.
was 80° F.
Since the temperature on Wednesday was
10% lower than the temperature on
Monday, the difference between the two
temperatures would equal (10%)(80) = 8.
93. (B) First, determine all possible factors of
168. One method of doing this is to use a
table to list pairs of factors. 96.
Factors of 168
1 168
2 84
3 56
4 42
6 28
7 24
8 21
12 14

(C) Add the taxes to the amount of the
check to find Michael’s total pay before

taxes were deducted.

213 + 32 = 245

Divide the total pay by the number of
hours to find the hourly pay rate.

245 + 20 =12.25

Then determine the group of three
sequential factors, (n-1), n, and
(n+1), where n is as large as possible.

This group is 6, 7, and 8, where n=7.

243

(@) To find surface area, use the formula
A =2(hw + hl + Iw).

A = 2[(20 x 40) + (20 x 50) + (50 x 40)
A = 2(800 + 1,000 + 2,000)

A = 2(3,800)

A =7,600 sqcm



97.

(C) The value of the car decreased $5,000
in two years: $15,000 to $10,000.

5,000 + 2 = 2,500

Therefore, the value of the car decreases
$2,500 each year. After 3 years, the car’s

value decreased $7,500.

So 7,500 + 15,000 = 22,500.

98.

(F) Assuming Alana picks 4 blue disks in a
row, the number of blue disks and the
total number of disks both decrease by 1

after each selection.

At the beginning, there are 4 blue disks
out of 9 total disks, so the probability of

selecting the first blue disk is g

The probabilities of selecting blue for the

next three selections are é, ;, and l.
8 7 6

4. 3,2,1_.24 _ 1

9 8 7 6 3,024 126
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99.

(A) Rewrite the percent as a decimal:

%% = 0.5% = 0.005

So the correct answer must not equal
0.005.

Option A

0.005 _ 4 00005
100
Option B

= 0.5+100 = 0.005

=
O‘I\J|l—l
o

Option C

> _0.005
1,000

Option D

1 _0.005

200

Therefore, Option A is the correct answer.

All answer options equal 0.005, except for
Option A.



100. (H) To find out how many members there 101. (D) 6x — 20 < 5x - 2(5 - 3x)
were in 2002, calculate 40% of 50 and

then add it to 50. Distribute the coefficient =2 on the right-

hand side.

50 x 0.40 = 20
6x — 20 < 5x + (—2)(5) + (—2)(—=3x)

20 + 50 = 70 members
6x — 20 < 5x —10 + 6x
To find out how many members there

were in 2003, calculate 40% of 70 and Subtract 6x from both sides.

then add it to 70. —-20 < 5x — 10
70 x 0.40 = 28
Add 10 to both sides.
28 + 70 = 98 members ~10 < 5x
To find out how many members there Divide both sides by 5.
were in 2004, calculate 40% of 98 and
then add it to 98. 2<x
98 x 0.40 = 39.2 which is equivalent to
X > =2

The result is 39.2, which is rounded to 39
to keep members to the nearest whole

number.

39 + 98 = 137 members
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102. (G) The ratio is red:white:blue = 2:5:3.

Find the number of each color in a box of

30 paper clips.
2x +3x +5x =30

10x = 30

X =3

Red: 2x =2(3) =6
White: 5x = 5(3) = 15
Blue: 3x =3(3) =9

If one paper clip of each color is removed
(3 total), there will be 8 blue paper clips
out of 27 in the box. The probability that

the next paper clip chosen will be blue is
8
27
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103. (B) Each option is divisible by 1, 2, 3, 4,

5, and 6.
Option A:

1,680 is evenly divisible by the first 8

positive integers.
Option B:

840 is evenly divisible by the first 8

positive integers and is less than 1,680.
Option C:

480 is not evenly divisible by 7.

480 + 7 = 68.57

Option D:

420 is not evenly divisible by 8.

420 - 8 = 52.5

Option B (840) is the correct answer.



104. (F) One method of solving the problem is

to use a table to represent the sample

space. Let the three colors be red, blue,

and green.

Wé‘;f;‘" Door Color | Wall Color
Red Blue Green
Red Green Blue
Blue Red Green
Blue Green Red

Green Red Blue
Green Blue Red

There are 6 possible combinations of the
window color, the door color, and the
porch color where no two parts are

painted the same color.

105.

(D) Similar geometric figures have sides

that are proportional.

10 _ x

6 9

5 _x

3.9

x =By
3

Because MN = NP, both unknown sides are
equal to 15. Therefore, the three sides of
MNP are 15, 15, and 10. The perimeter of
a triangle is the sum of its three side

lengths.

15+15+10 =40
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106. (G) First analyze the role of each variable

in the expression x2y23|w|.
x? will always be a positive number.

y can be a positive or a negative number.
z3 canbe a positive or a negative
number.

lw| will always be a positive number.

Next consider each answer option based

on the possible values of the variables.
Option E:

Making x and w positive will not
necessarily make the value of the
expression positive; it will depend on the

values of y and z.
Option F:

Making x and w negative will not
necessarily make the value of the
expression positive; it will depend on the

values of y and z.



Option G:
107. (B) Use the joint probability formula P

The expressions X2 and |W| will always be (black shirt first) < P (red shirt second,
positive. Therefore, making the values of given black shirt first).

y and z negative would result in the

. 3, . . . Initially there are 3 black shirts out of 6
expression yz~ being positive, since a

total shirts, so the probability of picking a

positive. Thus the given product would black shirt first is %

negative multiplied by a negative is

always be positive.
Once a black shirt is picked first, there is 1

Option H: red shirt out of 5 total shirts remaining.
The expressions x? and |W| will always be So the probability of picking a red shirt
positive. Therefore, making the value of y second, given that a black shirt was
negative and the value of z positive would picked first, is 1

result in the expression yz3 being

negative, since a negative multiplied by a Then P (black shirt first) « P (red shirt
positive is negative. Thus the given second, given black shirt first)

product would always be negative. 3.,1_3 _ 1

"6 5 10 10
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108. (E) The volume of a cube with a side

length of s is

V=s3

Since 125 small cubes were used to build

the large cube, 125 = s3.

Each side of the large cube is made up of

5 small cubes.

125 = 53

Since 5 small cubes make up each edge
of the large cube, and each edge of the
small cube measures 1 inch, the measure
of each edge of the large cube is

1 x5 =5 inches.

110.

(E) Since |x +1] > 2, either x +1 < -2 or

xX+12>2.
Solving x +1 < =2 for x gives x < —3.
Solving x +1 > 2 for x gives x > 1.

A filled circle on a number line represents
“or equal to.” So the correct number line

representation has filled circles at -3 and
1, with the number line filled to the left of
—3 for “less than” and to the right of 1 for

“greater than.”

109.

(A) The probability of Davina picking an
odd-numbered ball from Box B is % If
Davina places an odd-numbered ball in
Box A, then the probability of Yusuf
picking an odd-numbered ball from Box A
is % The probability of both of these
events happening is the product of the
two probabilities.

2,1
33 9
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111.

(D) The area of the kitchen floor equals
the product of 12 and 7.5.

12x7.5=90
The area of each square tile is the product
of 0.75 and 0.75.

0.75%x0.75 = 3 x 3 = 9
4" 4

16

The number of tiles need to cover the

floor is the quotient of 90 and % .

90+ -2 —90x 18 _ 160
16 9



112. (E) First, determine the number of tickets

sold on Sunday, x, using the total number
of tickets sold on Saturday and Sunday,
30,000, and the number of tickets sold on
Saturday, 4x.

30,000 = 4x + x
30,000 = 5x

6,000 = x

Then determine the number of tickets
expected to be sold on Monday, y, using
the number of tickets sold on Sunday,
6,000.

6,000 = 3y

2,000 = y

The number of tickets expected to be sold
on Monday is 2,000.
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113. (C) The original area of the field was

4,000 square meters.
80 x 50 = 4,000
When the field was enlarged, the length

increased by 15%, so the new length is

92 meters.

80 x 15%
80x0.15=12

80+12 =92

The width increased by 10 meters, so the
new width is 60 meters.

50+10 = 60

The new area of the field is 5,520 square
meters.

92 x 60 =5,520

The percent increase is found by finding

the difference between the two areas and

dividing the increase by the original area.

5,520 - 4,000 = 1,520

1,520 + 4,000 = 0.38 = 38%



114. (E) Since X and y are both negative

integers, both x? and y2 are positive.

Therefore, both x2y and xy2 are
negative, and both —x2y and —xy2 are

positive.

Because x <y and both x and y are
negative, |y| <|x| and y2 < x2. So

<l

Since |y| <|x| and x and y are integers,

o <
So x2y < Xy2.

—xy2 = ’xyz‘ and - xzy = ‘xzy‘

Therefore, xzy < xy2 < —xyz < —xzy.

Answer Key for Sample Form B

1.A 14. H 27.A 40. H 53.C 66. E 79.C 92.F 105.
2.E 15.C 28. F 41.C 54. E 67.B 80. H 93.B 106.
3.B 16.G 29.C 42.G 55.D 68. F 81.D 94.E 107.
4.G 17.B 30. E 43. A 56. F 69. A 82. F 95.C 108.
5.B 18.H 31.C 44. H 57.A 70. F 83.D 96. G 109.
6. F 19.B 32.F 45.D 58.-0.8 71.B 84. F 97.C 110.
7.B 20. H 33.A 46. G 59.5 72.H 85.B 98. F 111.
8.G 21.C 34.E 47. A 60. 95 73.D 86. G 99. A 112.
9.D 22.G 35.B 48. F 61.21 74.E 87.D 100. H 113.
10. G 23.D 36. H 49. C 62.32 75.B 88.G 101.D 114.
11.D 24. F 37.D 50. E 63. A 76.E 89.C 102. G

12. E 25.A 38. H 51.D 64. F 77.B 90. F 103.B

13.B 26. E 39.A 52.G 65. C 78. E 91. A 104. F
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